5/20/2015 Print Test

PRINTABLE VERSION

Quiz 8

You scored 100 out of 100
Question 1 0 +n 3O, n 15 an l’ﬂf‘ﬂl-r

Your answer 1s CORRECT.

Find three angles, two positive and one negative, that are coterminal with the given angle: 300°

a)  -60°, 480°, 1020° 300+ (D) 360= LLO°
-]
b) '600, 6600, 1020° 3°° + L'l') 3!:0 s -bo

300 + L2) 3u0= lo20
¢) -480°, 480°, 660°
d) -120°, 480°, 660°
e)  -120°, 660°, 1020°

Question 2

Your answer 1s CORRECT.

Name the quadrant in which the given conditions are satisfied: tan(6) <0, sec(8) <0

a) IV X\ X

® -1 \x X
——~
Qued IL

d 1
sin@= = Tongz-2 .25
Question 3 2 3

3
Your answer is CORRECT. s CosO = -2‘__:'_

¢ I
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_l =_1_'_ =1 =_il'_ 1 =_1_l'_ =_£l'_
b) {cns[ﬂj— 3 cot(8) 3 ¥ 35,cac(8) 2,s:an::l_rE.l:l s J 5, sin(8) 3 J 5, tan(8) S \.5|
—1_ =i =_1_l'_ =_£l 1 =_£ =_i'_
0 {cas[ﬂj— 3 5, cot( @) 3 csc(B) 3 v 35, sec(8) 5 3, sin(8) 3 tan( &) s \.Sl
=_1_l'_ =1_l'_ =_i =il'_ 1 =_£ =£'_.|
a) {cns[ﬁj 3 J 5, cot(8) 5 Y3, csc(B) g,sec[E] s J 5, smig) 3,13::1[8] E '\I'jl‘
—i =_£'_ =_i|'_ =1 =_1_'_ =_1_'_
¢ {EDSI:E.I:I— 3 cot(8) 5 J 3, c8c(8) 3 V5, 8ec(B) 5 sin( 8 3 Y5, tan(8) 3 1,|'5|
Question 4
Your answer 1s CORRECT.

Rewrite the following expression in terms of its reference angle, deciding on the appropriate sign
(positive or negative): sin(115°)

s ~ _ .
a)  sin(25°) \<|\ B 18o-ns = LS

sin(65°%) "~ ‘ sin LUS™ =sinl6S®)
¢)  sin(75°)

d)  -sin(25°)
e)  -sin(65°)

Question S

Your answer 1s CORRECT.

Rewrite each expression in terms of its reference angle, deciding on the appropriate sign (positive or
negative): tan (2% )
refo-~ "-_%

a) -tan(sn/lz) S . A -\-,nl-%: = --]-4,,‘.%)

@ -tan ( " )

©) tan( /)
d)  _tan( %)

€)  tan( W )

Question 6
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Your answer 1s CORRECT.

For the quadrantal angle ™ , give the coordinates of the point where the terminal side of the angle
intersects the unit circle. Then give the sine and cosine of the angle.

(..,l)
) .
a)  (1,0), sin( 2)=0, cos( 72)=0 3 t + sin( )= |
(0,1),Sin(n/2)=1,cos(n/2)=0 l cos(T)=0

€ (1,0), sin( 2)=1, cos( 72)=0
d) (0,-1), sin( 2)=0, cos( 2)=0

e) (0,1), sin( 2)=0, cos(2)=1
Question 7

Your answer 1s CORRECT.

Find the exact value of the following expression. Do not use a calculator. If undefined, state,
“Undefined.”

)a
a) s ] T
7
¢)  Undefined -
2-
d) %
e %
Question 8
Your answer i1s CORRECT.
Find the exact value of the following expression. Do not use a calculator. If undefined, state,
“Undefined.*
—2 (os0=-73
, 2
cos' ! (53 )
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a) -Sn/6 S A o = S
’j ) .

b)  Undefined ™ I o
@ 51,

d s

e) s

Question 9
Your answer 1s CORRECT.

Find the exact value of the following expression. Do not use a calculator. If undefined, state, G/
2

“Undefined.” tan () - sinL%3) 2 —
s sl /2
a)  Undefined T ton=J3 - {% ) _ZI_.._ =¥3
b "% T <=
I
©) %
¥
e)
Question 10
Your answer 1s CORRECT.

Find the exact value of the following expression. Do not use a calculator. If undefined, state,
“Undefined.”

Ccos |:—1:| Co‘se.__|

™
T S 1]
©) . { ™\ B

b) (-ved

¢)  Undefined
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31
d) )
e) 2n

Question 11
Your answer 1s CORRECT.

Find the period for the following function:

a) 3 Pewod = 41
b) 2n
@ An
d 2
e

Question 12
Your answer 1s CORRECT.

Find the amplitude for the following function:
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a) s
b) 21 s
¢) 4
z
e) 1
Question 13
Your answer 1s CORRECT.

Find the period for the following function:

3
21
a) /3 Pth‘od"' ZTF_“ = 2W -~ _2_‘E 3 - (P
@ 67 2 "‘,3) t !
¢) 31
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e)

Question 14
Your answer 1s CORRECT.

Find the amplitude for the following function:

f(x]=%n:os [%x]

. A=

b) 8n
0 s
d)
e)  n

Question 15
Your answer 1s CORRECT.

Find the period for the following function:

Flx)=5rcoes [%’ﬂ:x—*ﬂ:]—?

2n
W Pevod = 2 = 2T ;ZTl".g_L
b) 3 B ( ™s) T
0

67

d)
6
Question 16
Your answer 1s CORRECT.
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Find the amplitude for the following funct&n:

v

Flx)="7Trcos [%*ﬂ:x—’ﬂ:] + 2

O

P Vi mole = |+ = 7

b) 8
¢c) 9
d s
e) 14

Question 17
Your answer 1s CORRECT.

Find the phase shift for the following function:

a)  mleft

b)  5left
¢)  4right o He ﬁaki'
@ 5 right

e)  mright

Question 18
Your answer 1s CORRECT.

Find the vertical shift for the following function:

3 olawn
s =65m [im_n]@‘/

a) 4 up

@ 3 down
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¢) 3up
d) 4 down
e) 6up

Question 19
Your answer 1s CORRECT.

Give an equation of the form f(x) = Acos(B x - C) + D which could be used to represent the given

graph. (Note: C or D may be zero.) - A: Mox-min
ewod
Y > i » R
A:‘f‘l‘l) b S ->
—_—l e P
< z D= mox+ min
3 2 B e e
A=3 2
2T - 21 | Pewud = 2
> B B
2B = b

X < 3
3 3 '
3= 3T
c=s ™
D: ‘++—2-=. -%- - |
a) Flx)=3¢cos [3x—m) = 2
b) ® 7z} =6eos(3x—m) =1 y=3 cos (3x = T) +l

¢) flx)=6cos (3x—m) + 1
d) Fflx)=3cos (3x—m) — 1

@ Fflx)=3cos (3x—m) + 1

Question 20
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Your answer 1s CORRECT.

Give an equation of the form f(x) = Asin(B x - C) + D which could be used to represent the given

graph. (Note: C or D may be zero.)

wl ]
P

A=3- '."l)_; 2

2

- 2
%

B = 2w

25

B=2

ST

N

a)  flx)=2sin (2x—m) Y =2sin (2x -T) +1
by © Slx)=2sin (2x—m) — 1
@@ Flx)=2sin (2x—m) + 1
d) O Sx)=4sin (2x—m) — 1

e) flx)=4smn (2x—m) + 1
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A = mox-min

r =

Pewad = 21~
B

Phace
Shify

= &
]
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